C:# Stellenwert untersuchen Name:

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
1) Which choice has adigit in the einern place 2) Which choice has a digit in the hunderten

that is exactly twice the value of the digit in place that is exactly twice the value of the 1

the billions place? digit in the tausenden place?

A. 1.679.382 A. 326.761 2.

B. 6.429.284 B. 742.931

C. 7.283.569 C. 423.597 3.

D. 9.862.471 D. 165.748

4,

3) Which choice hasadigit inthebillionsplace  4) Which choice has adigit in the zehnern place

that is exactly twice the value of the digit in that is exactly three times the value of the >

the millions place? digit in the billions place?

A. 4.948.865 A.653.729 6.

B. 1.582.479 B. 251.469

C. 2.837.964 C. 741.629 7.

D. 7.239.468 D. 824.139

8.

5) Which choice has a digit in the einern place 6) Which choice has adigit in the billions place 9

that is exactly three times the value of the digit that is exactly three times the value of the '

in the zehnern place? digit in the zehnern place?

A.1.826 A.3.939 10.

B. 2.396 B. 4.592

C.3.129 C. 3562

D.5.834 D. 4.735
7) Which choice has a digit in the tausenden 8) Which choice has a digit in the zehnern place

place that is exactly four times the value of the that is exactly four times the value of the digit

digit in the zehnern place? in the millions place?

A.5.418.314 A. 94.367

B. 7.236.195 B. 25.487

C. 8.562.917 C.93.421

D. 6.913.752 D. 16.728
9) Which choice hasadigit in the billionsplace 10) Which choice has adigit in the billions place

that is exactly five times the value of the digit that is exactly six times the value of the digit

in the hunderten place? in the hunderten place?

A. 3.946 A. 8.926

B. 3.765 B. 1.643

C. 1.586 C.9.726

D. 4.159 D. 3.816
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